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 +(1-p ,(1-9q)



L fp,e)=fp +(0-p ,1-9q¢ +q )

2. gpqg) =g +00-p ,1-¢ +q )

1. f(p,q) = —5pg+3p+2¢—1

2. g(p,q) = —5pqg+2p+3q—1

(o, q0) f(po, q0)

9(po, q0) (Po, o)



I p€[0,1] f(po,q0) > f(p,q0)

2. q €[0,1] 9(po, 90) > 9(po, q)

(o, qo)

(1,0) (0,1) (3/5,3/5)
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(3/5,3/5)  (B/5) +(2/5) ,(2/5) +(3/5) )
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(0,1)
(3/5,3/5)
f(3/5,3/5) = 9(3/5,3/5) = 1/5
(1/2,1/2)
f(1/2,1/2) = 9(1/2,1/2) = 1/4
(3/5,3/5)
(3/5,3/5)
11

S={(w,v);u=f(p,q),v=9(pq,0<p<1,0<g< 1}

(u,v)
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(1,0)



S wv

5u2 +50° —10uww —2u—20+1>0,3u—20+1>0,2u—3v+1<0
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(1,0) (0,1)
(2,1) (1,2
(1/2,1/2) (1/4,1/4)
(3/5,3/5)
(1/5,1/5) S
12
S
(1/4,1/4)
(1/5,1/5)
1. 251—-2—>1—>2-—>1
2. 1522512522312
3/2
(3/2,3/2) (3/2,3/2) S
()

ri( o, )+r2( s )+ra( o, ) +ral L)

r1,72,73,74 > 0,71 + 120 + 13+ 714 =1
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Tlf( ) )+7'2f( ) )+7“3f( ) )+T4f( ) )

rig(, )+rag( , )+rg( 5 ) +rag( , )

r1,72,73,74 > 0,71 +120+1r3+714 =1

S+
S
S S+ uv
u+v<33u—2v+1>02u—3v+1<0
S+ (3/2,3/2)
13
S+ S+ (c,d)
®(S*,c,d) = (u(ST,c,d),v(ST,c,d))
[0
1.
2.
3.
4.
®(S™, ¢, d)
(0]
®(S*, c,d) (u—c)(v—d) S+
(u,v)
(3/5,3/5) (1/5,1/5)

c=d (3/2,3/2)
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(57, ¢,d)

(c,d)

(0,0)
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2>2u>0,2>2v2>20,ut+v<3

T
u>0 v>0
u
T
(u,v)
xT(u,v) =1
xT (u,v) =0
T
T
uxT (u,v)
vxT (u,v)

uoXT (u0,v0) > uxT (u,v0)

voxT (10, b0) > vXxT (U0, V)

(u,v)



(uo, vo) 2
1<u<L2,u+v=3
(u, v)
T
17
T
€ u>0,v>0
X2
1. (w,v) T xz(u,v) =1
2. (w,v) T € (u,v)
T (Une, V)
(w—uy)? + (v —0,)2 < €2
0 < xz(u,v) <1
3. (u,v) xz(u,v) =0
4. (u,v) limz_, ¢ x2(u,v) = x7(u,v)
Xz XT
u>0 v>0
1. uxz(u,v)

2. vxz(u, v)
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X2
1 u>0
2 v>0

(uz, v2)

(uz,v2)

uzxz(uz, v2) > uyxz(u,vz)

vaxa (uz, be) > vxa(uz, v)

2l_i}Ileo(uz, v2)

(UZ, ’Uz)

e 0

®(T,0,0)

e — +0

(uz,v2)
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